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1) 4,-4
2) 4,4
3) (0,0)
4) 4 v
A
Mﬁjr N
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/
N y //

X+1)2+(Y+3)2=16

5y 1,47
6) 3,-5
7) (-1,-3)
8) 4

B <

A

9) 3,-3
10) 4, -4

11) X2 + 2X + 1
X+1|X3+3X2+3X+1
X3+ X?)
2X2 + 3X
-(2X2 + 2X)

+
-(X+1)

12) X2 +2X +3
X+2'X3+4X2+7X+6
(X3 + 2X2)
2X2 + 7X
-(2X2 + 4X)
3X+6
-(8X + 6)

13) 63 =216 (This problem was misprinted in
some student books.)

4 5 1

4
216|1054 36|190 6'10 114
T heealieo 16 4

190 10 4 0

45146

14) 1x25+40x24+1x28+1x22+1x21 +1x20
1(32) +0(16) + 1(8) + 1(4) + 1(2) + 1(1) =
32+0+8+4+2+1=47

15) 3000 < 3025
16) 174,240 ft.2 < 200,000 ft.2

17) (4.2+6)(104 +103) =.7 x 107 =7x 106

18) (7x8+4 x 1.4)(108 x 100 + 103 x 105) =
10x 100 = 1 x 101

19) (X2-4)(X2 +4) =
(X - 2)(X +2)(X2 + 4)

20) 125+ 80A - 100 =30
80A=5
A=5/80=1/16
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2)
XY
113
11]-3
31
3 |-
112 |-2
112 ] 2
211172
2 |-11/2
4)
X
1 &
114
4 11
411
113 |-3
-11/31 3
6 |-2/3
-6 | 2/3
6)
K
115
-1 (-5
511
5 |-1
114 | 4
-11/4 |-4
0| no
possible
value

]

35C
1)

. Y
x|y A
olo
11 \ /
1|1

Ll \ -
2|4 < > X
2|4
2)
Y

x|y 1
11 |
|1 \
3|13
3 |m T X
5| 1/5
-5 |-1/5

3) line

4) circle

5) ellipse
6) line

7) hyperbola

8) parabola

9) 1x123 +7x122 +9x 121 + 3x 120
1(1728) + 7(144) + 9(12) + 3(1) =
1728 + 1008 + 108 + 3 = 2847

10) 53 =125
1 0 1 1
125|131 25| 6 5|6 1|1
125 0 5 1
6 6 1 0
10115

1) 1x 28 +1x22+1x 21+ 1x20

18) +1(4) +1(2) + 1(1) =
8+4+2+1=15
2x32+0x3"+2x30
2(9) +0(3) + 2(1) =
18+0+2=20

156 <20

2x 144 <289
288 < 289

12

~

13) (7 +1.4)(108 = 106) = 5x 10-14

14) (24x26+6x5.2)(104x 105 = 105x 10-7)
(6.24 =31.2)(101 = 10-12)
2x1018 =2x1012

32 4 _ 17 (multiply each term
15) 37X+ ="30 by30)

20X +24 =-17

20X = -41

X =-41/20 or -2 1/20

S5 .1y, 4 -, (muliplyeachterm
1) 5 "3 X+ 7 =0 pyag)

35-14X+24=0
14X =59
X=4314

17) 5616
18) Y(Y2-1)=Y(Y +1)(Y-1)
19) on the graph

Y
3
\
A
\
J i
\
_ 44 _ -5
2" T
Y=-52X+b
(1)=-5/2(-1)+b
b =-3/2

Y =-5/2X-3/2 or 2Y +5X=-3
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10)

5122348

Y A

12
-12
6 N~
-6 41
3
-3
2
-2

Y
3

parabola
circle
hyperbola
parabola
ellipse
line

1x42 +3x41+2x40
1(16) +3(4) + 2(1) =
16+12+2=30

83 =512
4 4 5 4

64| 300 8|44 1'4
4

2048 256 40
300 44 4 0

44548

11)

(14)(-2) >-25-4

-28 >-29
12) 2021 < 2025
13) (6x2.5)(107 x 109) =15x 102 =
1.5x 101
(2 x 10-1 if the student took significant digits
into account. Either answer is acceptable.)
14) (1.1x1.5) + (5x3)(109 x 108) = (10" x 10-6)
(1.65 + 15)(101 = 105)
A1x10% =1.1x103
(1 x 103 if the student took significant digits
into account. Either answer is acceptable.)
15) Y(2)-(6) = Y4
16) .25 paf! x 5218°|“' =1320 t.
17) C6D3C2DOD2C-8=D14
18) 3X2Y2 4 4Y4Y0y-2X1 =
3X2Y2 4+ 4XY?2
19) on the graph
20) on the graph (m = 1/4)
#19 Y
A
\
\
//
P
e - X
#20 4T i \
\
\
L 4 )‘1
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13)

14)

x
<

15)

16)

3

~

ellipse

4

=

hyperbola
5) line
6) circle
7) line
8) circle

9) 1x72+5x71 +1x70
1(49) + 5(7) +1(1) =

49+35+1=85
10) 44 =256
1 0
256[291  64[35
256 0
35 35
102034

2 0
6|35 413
32 0

3

3

17)
18)

19)

20)

3
1[3‘_
3

0

12) 9178 < (287)2

30 < (287)2

9.3x 107

38x10°2

9004 %"i =31.50z.
36in. _ _ 36in.

~oom. . doln. in2
1yt x xv4 X T 1,296 in.

A(A2 - 25) =
A(A +5)(A - 5)

3(81 - X4) = 3(9 + X2)(9 - X2) =
3(9 + X2)(3 + X)(3- X)

X+(X+4)+5-1-2X=2X
8=2X

4=X

Debbie had 4 flowers to start with.

5D + (5)(4) = 45

5D +20 =45

5D =25

D=5

Roger did 5 problems correctly.
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